

Mathematics 11U

2.4 – Simplifying Rational Expressions

Mr. D. Hagen

$$\frac{3}{12} = \frac{\cancel{3}}{\cancel{3}(4)} = \frac{1}{4}$$

$$\frac{15p^{\cancel{3}}}{10p^{\cancel{2}}}$$

$$= \frac{3}{2}p \quad \{p \neq 0\}$$

$$\frac{x+1}{4x^2+4x} = f(x)$$

$$= \frac{\cancel{(x+1)}}{4x(\cancel{x+1})}$$

↑ ↑

$$= \frac{1}{4x} \quad \{x \neq -1, 0\}$$

① Fully factor

② simplify

③ state restrictions
- from factored steps

$$\frac{x^2 + 11x + 28}{x^2 + 13x + 36}$$

$\begin{matrix} \textcircled{x} & 28 \\ & \textcircled{+} 11 \end{matrix}$

$\textcircled{x} 36 \quad \textcircled{+} 13$

$$= \frac{\cancel{(x+4)}(x+7)}{(x+9)\cancel{(x+4)}}$$

$$= \frac{x+7}{x+9} \quad \{x \neq -9, -4\}$$

$$\frac{35x^2 + 28x - 7}{21x^2 + 56x + 35}$$

$$= \frac{7(5x^2 + 4x - 1)}{7(3x^2 + 8x + 5)} \quad \begin{matrix} \textcircled{x}^{-5} \\ \textcircled{+} 4 \end{matrix} > 5, -1$$

$$\frac{7(\underline{5x^2 + 5x} - \underline{1x - 1})}{7(\underline{3x^2 + 3x} + \underline{5x + 5})}$$

$$= \frac{7(\underline{5x^2 + 5x} - \underline{1x - 1})}{7(\underline{3x^2 + 3x} + \underline{5x + 5})}$$

$$= \frac{\cancel{7}(5x-1)(\cancel{x+1})}{\cancel{7}(\underset{5/3}{3x+5})(\underset{-1}{\cancel{x+1}})} = \frac{5x-1}{3x+5} \quad \left\{ x \neq -\frac{5}{3}, -1 \right\}$$